¢/ 5

7 4

I N
’ﬂ. . J /

B3Rk 70 $FELRTHRCI RIS Ry
1) Eledkvoms aye aceeleraled by a 1000 V polodeal dﬂ,{, o Calehate the
de Brcgh wa@fQ? e, b Caledite dta md@«ﬁrfp o'gi dlee X —reups dhat”
conld be produced ohen shese alelioms Kiitke a solid (z2)

2. Cleedate e &a&mzrao‘l@s c’E e firdl staee fovdds for a Y‘Lf‘t{,beé_ h
a cubeal box. | =%y |

3) The MQQ[M,Qa,r thi&( {& ry\,(ﬁ:mg@@ @ 0378 ni, \Jbeﬁt “ the mean ’Fre@
;Ydﬂv w‘& mitv‘bﬂ&w aX 1 bar and 20°C ? what e e q_vzrdﬁﬁ Tome bé%oee’n
collisioms 7 Uz2)

B The voiXe comiland for e readlion HY+oH — H.0 &t !.3><\o“oh»fw,-0|s—.‘
Caleolafe vhe falf - Life £t sl mzujimf&&ax(m procass .gg ) (K =
(WD =10 M and dr(H') =TorT] =10"M., (o %)

1 The Ml)ngl‘m _66 GHReoH (L) im a comeXank -—VO'QU-W‘@. ealerineer Pyoctuas
13bl. 3G '&T\wﬂ,‘ X 2°C . What ¢o ot yalue {g sH° Lot e rea e
GHe O (D) 4305 19) = 2005 (g) +3H20 (8) a>2)

b Fot a soufion of ertansl and wiler al 26C el Las o mole Fralio
'({) MQ, ofg 0.2, dhe yaﬂlaﬁ onQﬂr VDRLU‘V\L ﬂ'é a@j@Y 4:4,_/7.‘7 &wf mo-Q'
amd the pattial molar volume of ettiancl Lo £5.0 2wt mol | 3Bt ol
O/B poce edtianal and waler are requlied Iy male 4 Pkor 6(5 'y
SO'QI.&C&W? At 26C e Az%sdta (g MAM»Q o o, 7f7 70":3 d%m
donsdy of waler <o 0,994 gor. 062

P A7 and at atdal pressure of 30,4 bar Hhe eguibebaiion i dle
}rea&ww colc%) +CL3) =2C0 Cf) ) sucl. rlak 17 mole s <6 the yf(s
MO, . () \,‘)Ka_k Pé(czﬁjl'aﬁ& WDM be (O pé’ (3 ﬁbm P;?Léﬁ.ure were
20:3bar 7 Y What would he ste efod o tle g libiisom of adding
N. £ ate reallion Mxilnre, v o cllosed vessel wadil vhe p&r‘ttafl
presoune "[} No Lotobar 7 (o) AT Lak pressuce wg the readants

il 2px o e gas he co, o Y2
) @ \Wreke Mo reaiow ek oecwrs when the celd

' ZW\ZHC/Q—D_(O,SSS-MOQ,'BL&':‘)\Ag(/uA’;,

Aelivers cwxverd and ecaledate Chy 56, LC)AS, and @) sH aX

z$"f fort Wit readion, AX 28°C E=loifV and (PF4r),= o> X

DAV S |

a(e2)




